MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

(GCF-11 & 12, CA FOUNDATION GD & PD)
DATE: 03.03.2021 MAXIMUM MARKS: 100 TIMING: 3 Hours

BUSINESS MATHEMATICS, REASONING & STATISTICS

1. Ans. c
Explanation:
1Rs. : 50P : 25P

4x, 5x, 6X
250X N 150 x
100 100

4X + =120

x =15

25 99 & Ryad! &1 | = 6 x 15 = 90
2. Ans. c

Explanation:

A:B=4:5]x7

B:C=7:8]x5

A:B:C=28:35:40

3. Ans. b
Explanation:

TR N3N BT He=T

="c,—c,+1

=%,-°,+1=91
4, Ans. c

Explanation:

ARSI BT G = FHol IR B F&AT - &I o’ T H 7
|

5 -—51=240

5. Ans. b
Explanation:

9,G,G, G, G, 288

| =ar"™

288=91r°

r5:25

r=2

G =ar=9x2=18
G,=ar’ =9x4=36
G,=ar’=9x8=72
G, =ar’ =9x16 =144
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST
6. Ans. a
Explanation:
1
o v (t,) [t
NRIRCECILES N = —n/ _
s = {v (t.,)}
1
:[@j“ ~1 =26.98%
100
7. Ans. b
Explanation:
Table Tennis
45%
fhdbe Wold dTel BTAT BT A=A = 35%+20%
= 55% of 120
= 66
8. Ans. d
Explanation:

j dx _ j X -x*-1 dx
X+vVx*-1 (X++X? —1) (X—+/x* 1)
— [oe—x" ~1) dix

X2 X

=55 X -1+ % log (x++x*—1) +C

9. Ans. c
Explanation:

%(x2 log X)

:x2.£+2xlogx
X
=X (1+ 2 logx)

10. Ans. b
Explanation:

fog (x) = f [g(x)]

_ [L}
1-x
1
_1-x
1

-1

1-x
=X
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST
11. Ans. b
Explanation:

o= = (x4 B)? —4o< B

=J(7)?-4(-9) = 85

12. Ans. a
Explanation:

I I I 11
TS A 2 3 >14

IS B 1 4 >12
2x+3y=14
X+4y>12

13. Ans. b
Explanation:
2i X = — 2i x 3i
=2+6
=8

14, Ans. b
Explanation:

3 x 2 Hfgay &1 o7 2 x 3 A 3 x 3 Hfgad Brf |
15. Ans. a
16. Ans. a
17. Ans. b

Explanation:

JMIDBY BT Bald. Bl = @x360:120
720

IADY BT BT BV = @X:BGOZQO
720

18. Ans. d
Explanation:
- n(n+1) (2n+1)
6

U2 2n UTdhfid ARl &I AT
2n (2n+1) (4n+1)
6x2n
~(2n+1) (4n+1)
6

19. Ans. c
Explanation:
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e foar ga ol d uifed fag U ad | et <R RR &1 R TIfa|E 81 ol o

20.

21.

22,

23.

T B |

Ans. a
Explanation:
5x+7y—-22=0

6Xx+2y—22=0

[10
2 5 EX\/E

bxy = —= ——=—
Y 6 7 o X

Ans. b
Explanation:

0.6745x1—r?
Jn
0.6745x (17

p.E=

0.2=
r=0.332

Ans. ¢
Explanation:

P(AnB)=1-

2
P(B)=1-_=

PMumz%—

i
6

Wl oo

Wl
ol

2
3

Ans. b
Explanation:
10

np=—
p3

2nc2 qun 2: nc3 p3qn 3
2xnl n!
2in-210" 3rn-al’
a
n-2
6g=np-2p

P
6

oX=2.64 6
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18-18 p=10-6p
12p =8

o
o
Il

Wk

>

X I
qRINwN

H

o

-]
Il

&)

&
VR

[S)
N S
o
VR

Wl
N

(6]

ol

S)
7N
w|nN
N~ S

_
7N

Wl
N~ S

S

_|_

Y
7N
w(nN
N~ S

N
VR

Wl

\_/w

i + 5 ><E + 10 x 4
5 35 35
1+10+40 51 51 17
¥ 3 23 81
Ans. b
Explanation:
FHIEROT 3x2 + (5m—2)x+ m=07% Hal BT AT
_ —(5m-2)
-3

%Hvrmﬁ%ﬁ?@wmax2+bx+c=0$a§rwa§ra3ﬁao‘raﬁmg‘raﬁgzl

M m=3
3

e _ —(65x3-2) _|-13
aﬁ.ﬂgﬁaﬂaﬁ_—3 =3

Ans. b
Explanation:
LHL = 3
RHL = 5-P
LHL = RHL
3 =5-P
P=2

Ans. b

Explanation:

f(x) = 2x%+3x-5

f'(x) = 4x+3

f'(0) =3

f'(-1)=-1
f'(0)+3f'(-1)=3+4+3(-1)=3-3=0
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST
27. Ans. d
Explanation :
Rank -I 1 2 3 4 5
Rank -II 2 3 1 5 4
D? 1 1 4 1 1
Spearman’s Rank Correlation coefficient = 1 - n(znzzlizl)
6x8
-7 5(52-1)
=0.6
28. Ans. c
Explanation:
Commodity R W RW
I 110 3 330
11 120 3 360
ITI 70 1 70
Total 7 760
>RW 760
AIRT dHd gadbid = —— =——=108.5
W
29. Ans. b
Explanation :
Eplqo 20+ 5x
L _2p9 _ 15 28
P Zp,q, 10+2x 27
Zpoa, 7
_ 140+ 35x _ 28
150+30x 27
X=4
30. Ans. b
Explanation :
X = 1500, SD = 400
1 T diq
Mean = 1500 + 20% of 1500=1800
SD = 400 + 20% of 400 = 480
PARS IS ICIE
Mean = 1800 + 100 = 1900
SD = 480 (dgrd 2)
31. Ans. a
32. Ans. a
Explanation:
bvu :Bbex
q
- 3. 12-18
2
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33. Ans. C
Explanation:

geAT A : 50 9¥ &1 Afdd 20 99 dHb Silfad &
gl B : 6099 &7 fdd 20 99 ddb Sifdd &7

5 5 6 6
“PAUB) =~ 4+ 2 - 2x> =2
14 14 14 14 49
34. Ans. a
35, Ans. a
36. Ans. b
37. Ans. a
38. Ans. d
39, Ans. a
40. Ans. b
41. Ans. b
Explanation:
By formula

n(AuBUC)=n(A)+n(B)+n(C)-nN(AnB)-n(BAC)-nN(A~C)+n(AnBNC)
92% = 42% + 51% + 68% - 30% - 28% - 36% + N(ANBNC)
n(ANBNC)=25%

42, Ans. d
43. Ans. a
Explanation:
j(x3 +3%)dx G*ogx _x
1, 3*
= X"+ +C
4 log 3
44, Ans. d
45, Ans. c
46. Ans. ¢
Explanation:
x x
New Mean=— New Mean=—+10
o o
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

47. Ans. c
Explanation:
P=2
P=2(1-P)
P=2-2P
3P=2
P=2/3

1

3

s( 2\ (1Y
C_ —_
)
_80
243

48. Ans. d
Explanation:

A:%[(ur)” -1]

. 6
T r= =0.015
e 100x 4

N =5x 4 =20
o 50,000=L[ 1.015 —1]
0.015

= P 1.346-1
0.015
P 50,000%0.15
0.346
P =2162.288

49, Ans. b
Explanation:
5X+2y =6
2y =6—-5X

_ 6 5X

2 2
5| 5 .
|b|:‘_§‘:§ [X T T[UIieh]
y @1 A71ed fa=e™ = |b| x x &1 A1y fque

= E><6=15
2

50. Ans. d

51. Ans. ¢
Explanation :
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MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

T, r r
A=P (I+—)(1+—2) 1+
( 10())( 100)( 100)
109, 106, 103
550 =P
(100)(100)(100)

P =462. 16

52. Ans. d
Explanation:

E= (1+Lj —-1{x100
100

2
= (1+ij —-1{x100=6.09%
200

53. Ans. b

54, Ans. a

55. Ans. a

56. Ans. b
Explanation :

r
A=P (I+—)"
( 100)

r
121 = 100 (1+—)
100

r=10%
57. Ans. c
58. Ans. c
59. Ans. ¢

60. Ans. a
Explanation:

)
Y
2
s
_ 2
- (55
y X" =y

X+y
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MITTAL COMMERSE CLA
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62.

63.

64.

Ans. a
Explanation:
log, x
log,, X
N log, 2b
log, b
N log, 2+log, b
log, b
= 1+|09—X2
log, b
= 1+log, 2

Ans. c
Explanation:

a2 (a°)" L.
[—a2b4] ) —a’2b3 xath?
7 5
b® a° a

. (0)* (a)® atp2
(a)Zl ' (b)40 :
= (b)42—40—2.(a)2&21—4

= (b)’.(a)°
=1

Ans. c
Explanation:

log 5,.00000001

4
log ;81 ar logy.3* = mlogs3:8

A IqUId 4 :8=1:2

Ans. c
Explanation:

TEf 55+ 57 =125+1=126
5 .5+5.5%=126 ...(1)

AT log,(.0)* = 4log,,.01=4

o 25
5 =y FHIAROT (1) T@H W) 5y+7:126 = 5y? —126y+25=0

5y? —125y -y +25=0
Sy(y—25)-1(y-25)=0
(y-25(5y-1)=0=>y=25y=1/5

afdy =25, 5=25=5"=5" =>x=2.
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aRy=1/5,a9 =5 =1/5 =5 = x=-1.

o X P A —1aer 2 2|

65. Ans. c
Explanation:
TRIDT B G = 4P; x 4!
=24 x 24 = 576
66. Ans. c
Explanation:
Soo—_2_
1-r
6
a=2b=—
5
12
ab=—
5
67. Ans. b
Explanation:
1 1 1 1
— X —=—X —
2 x 3 5
15
X =—
2
68. Ans. c
69. Ans. d
70. Ans. b
71. Ans. c
72. Ans. b
73. Ans. c
74. Ans. c
75. Ans. ¢
76. Ans. a
77. Ans. a
78. Ans. a
79. Ans. a
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MITTAL COMMERCE CLASSES m CA FOUNDATION- MOCK TEST
80. Ans. b
81. Ans. c
82. Ans. b
83. Ans. c
84. Ans. b
85. Ans. c
86. Ans. a
87. Ans. b
88. Ans. c
89. Ans. a
90. Ans. c
Explanation:

e | o T gt &1 Sorr O e 8 € |

n
10 -10
20 0 > 10+20+30
30 10 3
0 = 20
A X X, —X =
91. Ans. a
Explanation:

X Ry B FRar &1 gefiom T e & aHieer y -y =b, x—X
3 y—8.8=1.24(x—5.5)
= y=1.24x+1.98

92. Ans. ¢
Explanation:

Th AfFT 10 A~ I9RT 9 5 30 & HIFEd & ax¥eR A H [0S WRIedl © IS SId!
gfr $ud T IR @ QAT 31UET BT A HM gRT SUgad 3id g1 |

93. Ans. b
Explanation:
X P PX
5 1/3 5/3
6 1/4 6/4
7 5/12 | 35/12
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35

5 6
_+_ R
3 4 12
20+18+3
12

>_ 6.08

94. Ans. b
Explanation:

95, Ans. d
Explanation:
-3n10 -3nl 312
m=150><i:3 p(morethan2):1—e 3 _e°3 38
100 o il 2

e33% 33 332

I TR T
96. Ans. A
97. Ans. C
98. Ans. b
99. Ans. d
100. Ans.c

* %
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